Query Sequence (QSeq)

)A@11111111111111111111111111111111 P85 TNRM QSeq
)211101111011111111111011110101111 8= TNAR

ATCGTAGCGGATCGTCT CGTCTATGCGCGTATAGCTG

NN - MSP1 N
ATCTTAGCCGATCGTAT CTTCTATGAGCGTCTGGCTG

2(111101111011111101 10111111011110101111 )} TNARg, 5z =30
2(111111111111111111 11111111111111111111 §}— _
TNRMg, g =37

One sequence in Blast (SeqB)

_ TNARgg 30

GlDgys = ——— 2 x100=——x100=81.1%
TNRM g.iq 37

TNAR: Total Number of Aligned Residue
TNRM: Total Number of Residue in MSP (Maximum Segment Pair)
GID: Global Percent Identity




Query sequence (QSeq
CCTGI TGCATCGATGTGAT CGTAGCGGATCGT CTIT GATAGCGCTAGCGAT TGTAAACAGT C

CGATATTAAGAT GACGAAT T TGAACGCATIATCT TAGCCGAT CGT AT g T51= sequence in blast (SeqB)

>(11101111011111101 ) = NAR (=14)
>(11111111111111221 ) = NRM (=17)
2(11112122222222222111111111111111111 ) = NRC (=34)

pCover = I:ILRI(:\:’ x100= % x100=41.2%

NAR: Number of aligned residue in MSP (Maximum Segment Pair)
NRM: Number of residue in MSP

NRC: Number of residue in coverage
pCover: Percent coverage between the 2 sequences.




